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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 193 11.6 3.1 20 58 15.5
2 1050 12.5 2.7 20 62.6 84.4
3 417 13.5 3 22 61.5 33.5
4 110 11.6 4.3 22 52.6 8.8
5 80 13.6 2.8 22 61.8 6.4
6 46 11 4.1 22 49.9 3.7
7 195 13.6 3.4 22 62 15.7
8 217 11.9 3.7 22 54.3 17.4
9 55 11.6 3.7 22 52.9 4.4

10 252 12.9 3.4 22 58.5 20.3
11 283 12.4 3.3 22 56.2 22.8
12 385 12.7 3.2 22 57.6 30.9
13 210 12.5 3.3 22 56.8 16.9
14 227 13.2 3.4 22 60.1 18.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Contemporary themes in Geography– Section A Tectonics: Generic mark bands  [20] 
 


 AO1 [6 marks] AO2 [13 marks] AO3 [1 marks] 
Band Demonstrate knowledge and 


understanding of places, 
environments, concepts, 
processes, interactions and 
change at a variety of scales 


Apply knowledge and 
understanding in different contexts 
either to analyse or interpret or 
evaluate geographical issues and 
information 


Use a variety of relevant 
'geographical skills' to 
construct arguments 
and draw conclusions 


3 5-6 marks 
Secure factual knowledge and 
confident understanding of 
relevant concepts and principles 
 
Developed exemplification used 
with supporting geographical 
terminology 
 
Well-directed and well-annotated 
sketch maps / diagrams 
 
Spelling, punctuation and 
grammar used with a high degree 
of accuracy 


9-13 marks 
Accurate application either to 
interpret or analyse or evaluate  
 
Synthesis of the connections 
between different elements of the 
response to the question 
 
Relevant application of the 
specialised concepts  


1 mark 
The response is 
appropriately structured 


2 3-4 marks 
Straightforward knowledge with 
some inaccuracies; some 
understanding of relevant 
concepts and principles 
 
Appropriate exemplification and 
geographical terminology is 
partially evident  
 
Annotated sketch maps / 
diagrams contain inaccuracies 
 
Spelling, punctuation and 
grammar used with a reasonable 
degree of accuracy 


5-8 marks 
Some application either to interpret 
or analyse or evaluate with limited 
range, depth and development 
 
Incomplete synthesis between 
different elements of the response 
to the question  


1 1-2 marks 
Limited knowledge with errors and 
minimal understanding  
 
Limited use of examples and 
terminology; no supporting sketch 
maps / diagrams 
 
Spelling, punctuation and 
grammar used with limited 
accuracy 


1-4 marks 
Application either to interpret or 
analyse or evaluate is poor; 
occasional relevant points are 
made  


 0 marks 
Response not creditworthy or not 
attempted 


0 marks 
Response not creditworthy or not 
attempted 


0 marks 
Response not 
creditworthy or not 
attempted 







6 
© WJEC CBAC Ltd. 


2.  ‘The level of economic development is the main reason why the impact of 
earthquake activity varies.’ To what extent do you agree? [20 marks] 


 AO1 [6] AO2 [13] AO3 [1] 
 
Focus: 4.1.3 / 4.1.4 
 
Indicative content  
 
The indicative content is not prescriptive, and candidates are not expected to cover all points for full 
marks. Credit other valid points not contained in the indicative content.  
 
Likely themes and specialised concepts include: 
 
AO1 
Knowledge and understanding could include: 
• Earthquake processes and the production of associated hazards (causality / risk) 
• Primary and secondary hazards associated with earthquake activity (causality / risk / place) 
• Environmental impacts (e.g. damage to the built environment, landslides) (place / risk / scale) 
• Demographic impacts (e.g. deaths, migration) (place / risk / scale) 
• Economic impacts (e.g. disruption to production) (place / risk / scale) 
• Social impacts (e.g. homelessness, injury, bereavement) (place / risk / scale) 
• Local, regional and global impacts (place / risk / scale) 
• The characteristics of the earthquake activity that influence its impact: 
• Magnitude, predictability, frequency, duration, speed of onset, timing and areal extent (risk) 
• Economic factors affecting spatial variations in vulnerability (place / risk / resilience) 
• Level of development and level of technology (resilience / mitigation / adaption) 
• Social factors affecting spatial variations in vulnerability in terms of the population profile (e.g. 


age, level of education) (place / risk) 
• Political factors affecting spatial variations in vulnerability (e.g. quality of governance) (place / risk) 
• Geographical factors affecting spatial variations in vulnerability (e.g. rural / urban location / degree 


of isolation) (inequalities / place) 
 
AO2 
Application of knowledge and understanding is deployed to examine the extent to which the level of 
economic development is the main reason why the impacts of earthquake activity vary. Synthesis will 
be demonstrated by the drawing together of evidence to reach a rational conclusion. This evidence 
could include: 
• The magnitude of the tectonic event (scale) 
• Level of economic development – availability of technology to monitor and predict tectonic activity 


(place/ mitigation / resilience / interdependence) 
• Examining the role of geographical location – densely / sparsely populated environment, rural / 


urban environment (inequalities / place / risk / interdependence) 
• Role of social factors – influence of literacy rates / population profile (inequalities / place / risk / 


interdependence) 
• Importance of political factors – quality of governance in reducing the impacts of tectonic activity 


(place / mitigation / resilience / interdependence) 
• Examination of the level of preparedness (place / mitigation / resilience) 
• Evidence provided to analyse why the impacts of earthquake activity vary (place / scale) 
 
AO3 
Skills evidenced could include:  
• The skill of presenting well-constructed, coherent and logical arguments about the extent to which 


the level of economic development is the main reason why the impacts of earthquake activity vary 
• The skill of constructing relevant diagrams (qualitative skills) which are annotated to meet the 


requirements of the question 
• The skill of reaching conclusions about the extent to which the level of economic development is 


the main reason why the impacts of earthquake activity vary. 
 
Credit other valid approaches. 
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Write the two digit question number inside 
the boxes next to the first line of your answer 
Ysgrifennwch rif dau ddigid y cwestiwn yn y 
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(1110U40-1)


Contemporary Themes in Geography


Theme 1: Tectonic Hazards


2. ‘The level of economic development is the main reason why the impact of earthquake activity 
varies.’ To what extent do you agree? [20]
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Section B: Contemporary Themes in Geography: Generic Mark Bands  [22] 
 


 AO1 [9 marks] AO2 [11 marks] AO3 [2 marks] 


Band Demonstrate knowledge and 
understanding of places, 
environments, concepts, 
processes, interactions and 
change at a variety of scales 


Apply knowledge and understanding 
in different contexts either to analyse 
or interpret or evaluate geographical 
issues and information 


Use a variety of relevant 
'geographical skills'* to 
construct arguments and 
communicate findings 


3 7-9 marks 
Wide-ranging and thorough 
knowledge and confident 
understanding of relevant 
concepts and principles 
 
Developed exemplification 
used with supporting 
geographical terminology 
 
Well-directed and well-
annotated sketch maps / 
diagrams 
 
Spelling, punctuation and 
grammar used with a high 
degree of accuracy 


8-11 marks 
Accurate application either to 
interpret or analyse or evaluate 
 
Synthesis of the connections 
between different elements of the 
response to the question 
 
Relevant application of the 
specialised concepts 


2 marks 
A well-constructed, coherent 
and logical response 


2 4-6 marks 
Secure, straightforward 
knowledge and reasonable 
understanding of relevant 
concepts and principles 
 
Appropriate exemplification 
and geographical terminology 
is partially evident 
 
Appropriate, basically accurate 
annotated sketch maps / 
diagrams are included 
 
Spelling, punctuation and 
grammar used with a 
reasonable degree of 
accuracy 


5-7 marks 
Some application either to interpret or 
analyse or evaluate with limited 
range, depth and development 
Incomplete synthesis between 
different elements of the response to 
the question 


1 mark 
The communication in the 
response is limited or 
incomplete 


1 1-3 marks 
Limited knowledge with errors 
and minimal understanding 
 
Limited use of examples and 
terminology; no supporting 
sketch maps / diagrams 
 
Spelling, punctuation and 
grammar used with limited 
accuracy 


1-4 marks 
Application either to analyse or 
interpret or evaluate is poor; 
occasional relevant points are made 


 0 marks 
Response not creditworthy or 
not attempted 


0 marks 
Response not creditworthy or not 
attempted 


0 marks 
Response not creditworthy or 
not attempted 
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10. Evaluate strategies used to promote development in selected Sub-Saharan 
African countries. [22 marks] 


 AO1 [9] AO2 [11] AO3 [2] 
 
Focus: 4.3.14 
 
Indicative content 
 
The indicative content is not prescriptive, and candidates are not expected to cover all points 
for full marks. Credit other valid points not contained in the indicative content. 
 
Likely themes and specialised concepts include: 
 
Knowledge and understanding could include: 
 
• Reasons for a lack of development in selected Sub-Saharan African countries – physical 


and human factors may be introduced e.g. resource base / climate / trade blocs / MNCs / 
colonialism / neo-colonialism etc. (causality / risk) 


• Impacts of a lack of development may be considered – E.g. impact on GDP per capita / 
HDI / literacy rates / IMR / birth and death rates etc. (place / inequality) 


• Strategies to promote development in Sub-Saharan Africa:   
(i) National governments – E.g. Special Economic Zones in Ethiopia, Nigeria and 


Zambia / Botswana - Largely free of kleptocracy and civil conflict - it has maintained a 
transparent, law-abiding government and it has implemented good policies, including 
a hyper-prudent fiscal policy (mitigation / resilience / sustainability / adaptation / 
scale) 


(ii) International aid agencies, NGOs and micro-finance schemes – E.g. Practical Action 
in Kenya / Kenya Women Finance Trust (KWFT) (mitigation / resilience / 
sustainability / adaptation / scale) 


(iii) World Bank and IMF – E.g. World Bank in the Niger Delta - investments in 
hydropower plants, reservoirs, irrigation schemes, and navigation facilities (mitigation 
/ resilience / sustainability / adaptation / scale) 


• An assessment of the effectiveness of strategies used to promote development in 
selected Sub-Saharan African countries (mitigation / resilience / sustainability / 
adaptation / scale) 


 
AO2 
 
• Application of knowledge and understanding is deployed to evaluate strategies used to 


promote development in selected Sub-Saharan African countries. Synthesis will be 
demonstrated by the drawing together of evidence to reach a rational conclusion. The 
evidence could include: 


• The scale of the strategies employed – local / regional / global (scale)  
• The longevity of the strategies (time scales) 
• Comparison of the success of different measures employed in different countries (place)  
• Improvements in the use of strategies over time (time scales)  
• Evidence for success by referring to indicators: indicators covered may include social, 


environmental and demographic measures of improvement indicative of progress made 
(inequality / resilience / globalisation) 


• The interdependence of strategies used to promote development in Sub-Saharan African 
countries (interdependence)  


• Evidence provided to evaluate strategies used to promote development in Sub-Saharan 
Africa (place / scale / sustainability)  
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AO3 
 
Skills evidenced could include:  
 
• The skill of presenting well-constructed, coherent and logical arguments about strategies 


used to promote development in two or more Sub-Saharan African countries 
• The skill of constructing relevant diagrams (qualitative skills) which are annotated to 


meet the requirements of the question  
• The skill of reaching conclusions about strategies used to promote development in two or 


more Sub-Saharan African countries 
 
Credit other valid approaches. 
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A03: Introduction is provided but there is scope to provide a brief overview of the examples that will be discussed. In addition, the candidate could highlight some of the specialised concepts that will be examined during the course of the essay.
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Sticky Note

A01: A well developed example has been included here. It is contemporary in nature and supporting evidence has been provided.
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Sticky Note

A02: Some analysis appears here but it lacks depth. There are some references to specialised concepts e.g. "local economy" but there is room for development.
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Sticky Note

A02: Some sound analysis is provided here. The specialised concept of scale is discussed. A01: There is scope to provide case study support here, which would serve to supplement and support the points provided.



neil.davies

Sticky Note

A01: Another examlple is introduced - once again, the case study would benefit from more details. 



neil.davies

Sticky Note

A02: Analysis is provided in this section and there is a discussion of the specialised concept of sustainability. 







neil.davies

Sticky Note

A01: 7/9 Some developed examples are provided but there is scope for development in parts. A02: 9/11 Analysis is present throughout and references are made to relevant specialised concepts. A03: 2/2 A lucid response. Total: 18/22



neil.davies

Sticky Note

A02: The analysis continues in this section. The candidate is making an effort to interpret the evidence provided throughout the essay. 



neil.davies

Sticky Note

A02 / A03: The candidate continues to analyse and interpret the evidence provided in this section and comes to an overall judgement about the effectiveness of the scheme implemented in Chad.



neil.davies

Sticky Note

A01: Another case study has been introduced here and it benefits from some good support. However, there is scope to provide more specific details. 



neil.davies

Sticky Note

A02: Analysis is provided and the candidate weighs up the evidence presented. 



neil.davies

Sticky Note

A02 / A03: An overall conclusion is provided, which gives the candidates final judgement. Reference is made to the specialised concept of scale. 
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neil.davies

Sticky Note

A03: An introduction is provided, which provides some context for what follows. 



neil.davies

Sticky Note

A01: A case study is introduced and some supporting details are provided. 



neil.davies

Sticky Note

A02: Analysis is provided and specialised concepts are introduced. However, they need to be discussed in more detail.



neil.davies

Sticky Note

A01: More examples are introduced here e.g. CAFOD but there is a lack of depth and detail. 







neil.davies

Sticky Note

A02: Analysis is provided but there is a lack of supporting evidence and inclusion of specialised concepts.  



neil.davies

Sticky Note

A01: Another strategy is advanced but the details are very vague.



neil.davies

Sticky Note

A02: Analysis is provided and some specialised concepts are considered but there is a lack of support and sophistication.



neil.davies

Sticky Note

A01: A microfinance scheme in Chad is introduced. However, it is discussed in a very generic fashion. There is a complete lack of support. 
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neil.davies

Sticky Note

A03: The answer ends abruptly, without a conclusion. As a result, 1/2 was awarded for A02.



neil.davies

Sticky Note

A01: 6/9 Examples are partially evident throughout but they lack depth and development. A02: 8/11 The candidate engages in analysis throughout the response and includes relevant specialised concepts. However, there is scope for more sophisticated analysis and more effective use of case study evidence. A03: 1/2 The answer is incomplete. As a result, it lacks coherence and structure. Total: 15/22



neil.davies

Sticky Note

A02: Analysis is provided and specialised concepts are hinted at. However, the lack of supporting evidence hinders the candidate. 
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Development in Sub-Saharan Africa


 


10. Evaluate strategies used to promote development in selected Sub-Saharan African countries.
[22]
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Section B: Contemporary Themes in Geography: Generic Mark Bands  [22] 
 


 AO1 [9 marks] AO2 [11 marks] AO3 [2 marks] 


Band Demonstrate knowledge and 
understanding of places, 
environments, concepts, 
processes, interactions and 
change at a variety of scales 


Apply knowledge and understanding 
in different contexts either to analyse 
or interpret or evaluate geographical 
issues and information 


Use a variety of relevant 
'geographical skills'* to 
construct arguments and 
communicate findings 


3 7-9 marks 
Wide-ranging and thorough 
knowledge and confident 
understanding of relevant 
concepts and principles 
 
Developed exemplification 
used with supporting 
geographical terminology 
 
Well-directed and well-
annotated sketch maps / 
diagrams 
 
Spelling, punctuation and 
grammar used with a high 
degree of accuracy 


8-11 marks 
Accurate application either to 
interpret or analyse or evaluate 
 
Synthesis of the connections 
between different elements of the 
response to the question 
 
Relevant application of the 
specialised concepts 


2 marks 
A well-constructed, coherent 
and logical response 


2 4-6 marks 
Secure, straightforward 
knowledge and reasonable 
understanding of relevant 
concepts and principles 
 
Appropriate exemplification 
and geographical terminology 
is partially evident 
 
Appropriate, basically accurate 
annotated sketch maps / 
diagrams are included 
 
Spelling, punctuation and 
grammar used with a 
reasonable degree of 
accuracy 


5-7 marks 
Some application either to interpret or 
analyse or evaluate with limited 
range, depth and development 
Incomplete synthesis between 
different elements of the response to 
the question 


1 mark 
The communication in the 
response is limited or 
incomplete 


1 1-3 marks 
Limited knowledge with errors 
and minimal understanding 
 
Limited use of examples and 
terminology; no supporting 
sketch maps / diagrams 
 
Spelling, punctuation and 
grammar used with limited 
accuracy 


1-4 marks 
Application either to analyse or 
interpret or evaluate is poor; 
occasional relevant points are made 


 0 marks 
Response not creditworthy or 
not attempted 


0 marks 
Response not creditworthy or not 
attempted 


0 marks 
Response not creditworthy or 
not attempted 
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12.  ‘Increased energy efficiency is the most sustainable solution to the growing 
demand for energy.’ Discuss.  [22 marks] 


 AO1 [9] AO2 [11] AO3 [2] 
 
Focus: 4.4.7 
 
Indicative content  
 
The indicative content is not prescriptive, and candidates are not expected to cover all points 
for full marks. Credit other valid points not contained in the indicative content. 
 
Likely themes and specialised concepts include: 
 
AO1 
 
Knowledge and understanding could include: 
 
• Promoting energy efficiency: Heat escapes from poorly insulated homes, newer 


lightbulbs use a tenth of the energy of traditional ones, lights are left on when not 
needed, the list goes on. It is estimated that carbon emissions could be stabilised by 
greater efficiency (place / adaptation / mitigation / sustainability) 


• Demand reduction policies: Walking or cycling instead of using a car is a direct 
reduction.  Using public transport also achieves reduction, by the fact that it takes less 
energy to transport people in large numbers on one vehicle than for them all to use their 
own cars. Modern telecommunications can make travelling to attend meetings redundant 
(place / scale / sustainability)   


• Clean technologies for fossil fuels including carbon capture, carbon sequestration and 
gasification and transport technologies (sustainability / adaptation / mitigation)  


• Alternative energy sources: 
(i) Nuclear is a major supplier world-wide, but generates debate (place / risk / 


sustainability) 
(ii) Wave and wind power have relatively little damaging impact but much of their 


potential is yet to be developed (place / sustainability) 
(iii) HEP schemes have led to the release of methane, more powerful as a greenhouse 


gas than CO2 (place / risk / sustainability) 
(iv) Biofuels lead to destruction of rainforest and use of agricultural land needed for food 


(place / risk / sustainability) 
(v) Geothermal, tidal and solar sources of power have few drawbacks, but the range of 


locations where they can be exploited is limited (place / risk / sustainability / scale) 
• An assessment of the sustainability of strategies used to meet demands for energy 


(sustainability / place / scale) 
 


AO2 
 
Application of knowledge and understanding is deployed to examine whether increased 
energy efficiency is the most sustainable solution to meet the demand for energy. Synthesis 
will be demonstrated by the drawing together of evidence to reach a rational conclusion. The 
evidence could include: 
 
• A discussion of the strategies used to meet the demands for energy at a variety of scales 


(adaptation / place / resilience / scale / sustainability) 
• A comparison of the effectiveness of different strategies used to meet the demands for 


energy (adaptation / place / resilience / scale / sustainability) 
• Spatial variations in the implementation of strategies designed to meet the demands for 


energy (place / scale / sustainability) 
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• Changes over time – examination of the effectiveness of different approaches adopted 
over time (adaptation / mitigation / place / scale / sustainability / time scales) 


• Evidence provided to evaluate the strategies used to meet the demands for energy 
(place / scale / sustainability) 
 


 
AO3 
 
Skills evidenced could include:  
 
• The skill of presenting well-constructed, coherent and logical arguments about whether 


increased energy efficiency is the most sustainable solution to meet the demand for 
energy 


• The skill of constructing relevant diagrams (qualitative skills) which are annotated to 
meet the requirements of the question  


• The skill of reaching conclusions about whether increased energy efficiency is the most 
sustainable solution to meet the demand for energy 
 


Credit other valid approaches. 
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neil.davies

Sticky Note

A01: Candidate demonstrates a straightforward knowledge of energy efficiency. There is a lack of case study support here and the answer is rather generic overall. 



neil.davies

Sticky Note

A02: Candidate engages in some anlaysis / interpretation but there is a lack of sophistication. Specialised concepts need to be introduced and explored.
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Sticky Note

A02: Reference is made to the specialised concept of sustainability - this point should be discussed in more breadth and depth. Case study support would be useful too.



neil.davies

Sticky Note

A01: There is some reasonable knowledge and understanding demonstrated here but the response is too generic. Evidence is needed. 



neil.davies

Sticky Note

A01 / A02: The analysis continues but it is hindered by the fact that there is a complete lack of evidence to support the points raised. In addition, the analysis is rather bland.  
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Sticky Note

A02: The candidate provides a counterargument in this section of their response.



neil.davies

Sticky Note

A01 / A02: Once again, the candidate makes a number of sensible points but there is a lack of case study support and sophistication. 



neil.davies

Sticky Note

A01: An example is provided but the candidate fails to provide any further details. 
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Sticky Note

A01: 5/9 The candidate demonstrates a reasonable knowledge and understanding of concepts but there is a lack of supporting evidence. A02: 7/11 Analysis is present throughout but it lacks reference to the relevant specialised concepts. A03: 2/2 The response is coherent and has an appropriate structure.  Total: 14/22



neil.davies

Sticky Note

A02: Analysis is provided on a consistent basis. However, the lack of case study support and inclusion / discussion of specialised concepts is an issue. 



neil.davies

Sticky Note

A03: A conclusion is provided and the candidate weighs up the evidence presented during the essay.
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neil.davies

Sticky Note

A03: Introduction provides a firm context. 



neil.davies

Sticky Note

A01: Candidate has some knowledge and understanding of energy efficiency but there is a complete lack of supporting evidence here. This section is rather bland / generic.



neil.davies

Sticky Note

A01 / A02: Some good evidence is provided in this section. The candidate also attempts to analyse the evidence presented but it would benefit from the inclusion of specialised concepts. 



neil.davies

Sticky Note

A01: Case study introduced.



neil.davies

Sticky Note

A01: Another case study has been provided here.
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Sticky Note

A02 / A03: A conclusion is provided and the candidate reviews the evidence provided before providing an overall judgement. 



neil.davies

Sticky Note

A02: There are opportunities to discuss the specialised concepts of sustainability and time here.



neil.davies

Sticky Note

A01 / A02: Some good evidence has been provided here relating to Iceland but it has not been developed in an effective manner. 



neil.davies

Sticky Note

A01: A case study is provided but further details are missing. 



neil.davies

Sticky Note

A01 / A02: This is an interesting example but there is a lack of depth and detail. More evidence would have provided the candidate with the opportunity to anlayse the strategy in a more robust fashion. 



neil.davies

Sticky Note

A02: Analysis is provided but it could be developed. E.g. examining the economic, social and environmental implications of the strategy. 



neil.davies

Sticky Note

A01: There is a lack of supporting detail here.



neil.davies

Sticky Note

A02: A counterargument is provided.
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neil.davies

Sticky Note

A01: 7/9 The response benefits from some well developed examples but the section on energy efficiency could be developed in particular. A02: 9/11 Analysis is present throughout the response and specialised concepts are introduced. However, they are only "hinted at" in places and would benefit from more development. A03: 2/2 The response is appropriately structured. Total: 18/22
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(1110U40-1)


Theme 4: Energy Challenges and Dilemmas


12. ‘Increased energy efficiency is the most sustainable solution to the growing demand for energy.’


Discuss. [22]
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